// set datalog parameters
datalogObj->iptr[@] = &angleFoc_rad;
datalogObj->iptr[1] = &adcData.V_V.value[®@];
datalogObj->iptr[2] &adcData.V_V.value[1];
datalogObj->iptr[3] &adcData.V_V.value[2];
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// set datalog parameters

datalogObj->iptr[@] = &angleFoc_rad;
datalogObj->iptr[1] &pwmData.Vabc_pu.value[@];
datalogObj-»>iptr[2] = &pwmData.Vabc_pu.value[1];
datalogObj->iptr[3] = &pwmData.Vabc_pu.value[2];
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// set datalog parameters
datalogObj->iptr[@] = &angleFoc_rad;
datalogObj->iptr[1] = &adcData.I_A.value[@];
datalogObj->iptr[2] = &adcData.I_A.value[1l];
datalogObj->iptr[3] = &adcData.I_A.value[2];
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